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1 1
D1( ) G () GD(M/ ) 5 L(m) D2( ) DM/ ) 5 H(m) D3( ) D4( ) D5 & D6( ) D( ) (K)) 5 Q(KI)
=(60*6.3*GS/GT)*L |=N*L =5 L/GD =(60%6.3/ T)*H  |=N*H = H/ID =D3/5 =3 (D1" D6) =0.4*(H*v+n*3)*K  |=Q*N

1.15 17.94 2,403.96
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30.73 2,010.0 66 4.74 402.0 85 17 109 17.94 2,403.96
1.15 17.94 2,403.96
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39.79 2,010.0 51 4.74 402.0 85 17 109 17.94 2,403.96




Superjet-Midi

190PS 75kVA 125kVA 200kVA 600kVA
> w(m3) a 1(m3) y 2(m3) 3(m3) 4(m3) 3 (m3) dm3/ ) 1( ) 2() 3() 4 ) 5( ) ()
=n*3*0.4*N =(Z Q+= Qw)*(1+a ) =GT2*0.1*N*y =D3*4 =hp*6*0.4*N =3 (VL V4) = /D3 =186*D3 =75*D2*GS =127*D3 =212*D3 =580*D3 =3 (P1” P5)
160.8 0.15 2,949.5
0.2 900.5
1
160.8 2,949.5 900.5 340.0 4,190.0 49.3 15,810 9,900 18,020 49,300 93,030
160.8 0.3 3,334.2
0.2 675.4
(2)
160.8 3,334.2 675.4 340.0 4,349.6 51.2 15,810 7,650 10,795 18,020 49,300 101,575




Superjet-Midi

1(m3) w(m3/kl) 2(m3) 3(m3) 4(m3) Zpt( ) 5(m3) (m3)
=(GT2)*0.1*N =3 Q*w*(1+0.2)  |== Qw =4.0*D3 =N*hp*6  |=5 pt*0.4 (1 5
0.801 2,310.7
(1)
4,502.4 2,310.7 160.8 340.0 7,313.9
0.819 2,362.6
(2)
3,376.8 2,362.6 160.8 340.0 6,240.2




